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20244 =& 3 3| L SHE ~ HHES
SN FES
Ma: FHO 0 YH BO £2
Chol: LMY X2 NRA(FEH) (CHo: M2l
A -3 - 29(3) - HRAY - B4 04 koA I8N Hlns2
F=HH 1,043,628 1,073,224 A29,596
FEH R0 Y Eo &2 224,360 228,540 A4,180
LHMT KMol K@ (FEH) 82,440 86,620 24,180
A2t 23,820 28,000 24,180
401 AlEHIL R 0HY] 20,820 25,000 24,180
01 Al&ZH] 20,820 25,000 24,180
A S LHAS =3 At 8,240 10,000 1,760
EACCTV Xl 7,780 8,000 A220
AL H&A 0lA EX 4,800 7,000 2,200
FoH ARE XY 545,824 573,240 N27,416
Iz Y MBESTAL SF(FEYH) 545,824 573,240 N27,416
FEH AFDF0I=RAY 545,824 573,240 N2T,416
401 Al2BIL 20| 533,824 561,240 N2T7,416
01 Al&H] 533,824 560,240 N26,416
2&12/(653) =2 FH 11,441 12,000 A559
2E22l(656- ) =2 FH| 18,613 20,000 1,387
Or2121(136) HH==2 ZH| 8,264 15,000 26,736
DF2H121(288~ 6) o =S54 18,534 22,000 A3,466
SE12l(634-4) ti+=2 ZH] 13,788 15,000 N1,212
SE121(490-4) otsSorz Bxy 10,972 18,000 AT7,028
24| (347) At ES4D| 17,343 20,000 N2,657
o1XIel(602-5) At 2 14,009 15,000 A991
oXel(3) =g 2 &Xl SA 11,040 11,500 460
AX2l(1025) =& & 27 =Xl SAt 11,040 11,500 460
HAeIXI(64-5) =2=0H, 2= & AHX2l(204)
SZ2AY ZHBA 7,060 8,000 2940
A Xl2l(337-10) 2= L HX2l(680) E+
=22 dXIZAt 5,800 6,000 A200
OE‘IIE,I(298) =5 =22 EXISA 3,880 4,000 A120
del(84-1) 2 ZX SA 9,800 10,000 A200
03 Al&2CHH 0 1,000 21,000
A& 204 0 1,000 21,000
FHH Y 2SI 273,444 271,444 2,000
JlE2gHI(F2) 101,190 99,190 2,000
JlI238H| 101,190 99,190 2,000
201 28t=3| 67,270 65,270 2,000
01 At22tel] 39,270 37,270 2,000
At22te|dl 20,720 18,720 2,000
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SN FDSt
HEj: FDO FOIMY BT

CHel: QST R2IKI (Fus) (o) xi2)
A - B - SRA(SIH) - HRAY - BES IS ol F o HlnE2

ST 1,545,766 1,564,342 218,576

FUS F0Hy HoED 554, 126 540,702 13,424

EREESpENETESI) 178,195 63,220 4,975

ENETE] 108,200 108,725 ~525

101 OIAH] 32,500 30,525 1,975

UBIE EE =R 32,500 30,525 1,975

AR L SR SAFY| 32,500 30,525 1,975

123 20,619 18,960 1,659

-2a4g 1,185 869 316

401 NEBIZ=CHY| 74,500 77.000 22,500

0T AlZH] 74,500 77.000 22,500

BIARL EXE & BA 37,500 40,000 £2,500

FolgEEz 30 2 2 69,9% 54,4% 15,500

101 Q1A 15,99 18,4% ~2,500

UBIEL EE =R 15,99 18,4% ~2,500

T2¥ 2 RS HE 15,99 18,495 22,500

123 15,500 18,000 22,500

201 LEr2 ] 53,000 3,000 18,000
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}2S ®Ie3 48,000 30,000 18,000

ZOITFRIDIEF 2= (Fme) 2%.816 293 841 1.975

FOIAEEH A 136, 466 134,491 1,975
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F0S A2 Ko 597,000 612,000 A15,000

¥s U HFEEAL =E(FD) 597,000 612,000 15,000

AR FOIZBAY 597,000 612,000 15,000

401 Al =8I =CHY| 597,000 612,000 A15,000
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Hm: 0l #F BMo| £
©el: AWSE Mol XB(HSH) (CHel: &2l
BA - 3 - HRA(3A) - M2AIY - BES Ol &kt 3 oA HIWE2
= 1,630,954 1,692,893 261,939
=0l F Hol &8 777,775 811,572 A33,797
ASHE HMel X (H=H) 277,743 289,540 A11,797
A2t 90,800 91,800 21,000
401 AlEHIL R 0HY] 89,600 90,600 21,000
01 AlZHI 89,600 90,600 21,000
HEAL X0t LSS0l 2+=3At 11,000 12,000 21,000
=olMEEA AH| 2 2A2|(FSH) 76,552 80,552 ~4,000
101 2244 42,552 46,552 24,000
04 JIZtH2Z2 XS E= 42,552 46,552 24,000
£29 2 II2E% M=E 13,262 17,262 24,000
-JlEs 12,800 16,800 24,000
22X 2 RAX 22| (H=H) 15,283 20,080 N4, 797
101 2244 10,383 15,080 AN4,697
04 JRHHZ2ZENEE = 10,383 15,080 AN4,697
gdoi==& oE4 22l M| +=A 6,922 5,027 1,895
-Jles 5,530 3,476 2,054
-Feard 632 553 79
=P 158 79 79
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=i S 72X 2c| 94,108 96,108 /2,000
201 LBt2 3| 35,200 37,200 22,000
02 3324 32,200 34,200 22,000
=HA S FEX X2l 3,000 5,000 22,000
FOIXX JIgt (A=) 404,991 422,991 /18,000
HRLIEIWEH 2 100,391 105,391 /5,000
101 2244 32,811 35,811 A3,000
04 JRHHZ2ZENEE = 32,811 35,811 A3,000
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201 LBt2 3| 67,580 69,580 22,000
01 At2t2lH] 40,640 42,640 22,000
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FOINXEZZOY 2HY A5 P2 32,600 34,600 A2,000
SIE O 01 & 87,000 100,000 213,000
401 AlEHIZ 20| 87,000 100,000 213,000
01 Al&H] 87,000 100,000 213,000
Ol = JYZ JIIZS AXI(F2E0) 29,000 42,000 213,000
= oA =EN2 23 95,041 99,041 24,000
5 LoAA=SNg2 23 95,041 99,041 24,000
201 ZEH= | 35,000 39,000 24,000
02 S232EH| 32,000 36,000 24,000
HE==E RAUEF 10,000 14,000 24,000
=W A2 X 513,700 514,000 A300
Az L MEEM J|HAIE FH| & S$5(3=S 513,700 514,000 A300
AR RF0U=RAIY FE(H=SH) 513,700 514,000 A300
401 AlEHIL R 0HY] 503,700 504,000 A300
03 A2 204 1,700 2,000 A300
A2 FRI=SRAY AIZR0I 1,700 2,000 A300
=0 IS 339,479 367,321 N27,842
olARAH|(H=H) 227,489 257,331 A29,842
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01 2= 130,344 160, 186 A29,842
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-6= 15,038 30,075 A15,087
-2 16,979 27,166 10,187
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M R0 A EHo| 2
el AMEE MelXd(HetH) (Ctol: ®M2l)
S - HY . B9(EH) - IBAY - BAS oflave R fmE=)
EHetH 1,454,326 1,434,056 20,270
=0l F Hol &8 504,418 484,148 20,270
UM HMelXI&(HatH) 138,558 138,958 2400
S Ar2te] 19,600 20,000 2400
201 L] 1,600 2,000 2400
01 AtR2teld| 1,600 2,000 2400
cte MZEX ALE IX= 1,600 2,000 2400
=X DI R=(EetH) 365,860 345,190 20,670
ScleHEXIR 134,300 104,900 29,400
301 YPtENS 134,300 104,900 29,400
07 S& - 01 - BHEESE4= 134,300 104,900 29,400
ScltEEs Ba= 134,300 104,900 29,400
-01&=E 100,800 75,600 25,200
&= 16,800 12,600 4,200
=oiste & FHAIR 36,560 39,000 A2,440
301 YetEN =S 1,560 4,000 A2,440
11 EAHIXIRZ 1,560 4,000 A2,440
Mol sEH WS SAHI| 1,560 4,000 A2,440
SEEs =AdH XA 97,750 98,290 AB40
401 Al&HIZLROHY] 9,460 10,000 AB40
01 AlEHI 9,460 10,000 AB40
FOUTXIME (R0HA) SZHE At 9,460 10,000 AB40
T AH(HEHH) 94,250 100,000 A5, 750
401 Al&HIZLROHY| 38,750 44,500 A5, 750
01 AlEHI 38,750 44,500 A5, 750
=& F1) ZAIS LED et AXI(F2EN) 16,200 18,000 1,800
sz22 =8 AX(F2UEH) 21,080 25,000 A3,950
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FAN: DIAEH
Hu: 0|3 HESAAY)
Tl 012 2YH|(0]AHH) (Chol: ®i2)
2A - ZH - HA(S) - MRAIY - BES Ol &boH & o HlwE2+
Ol&HH 1,402,271 1,432,271 230,000
Ol&tH HH2HEH 250,640 280,640 230,000
oI 2HH| (D] AHH) 148,730 178,730 230,000
QI 23| 148,730 178,730 230,000
101 @I244| 148,200 178,200 230,000
01 = 101,110 131,110 230,000
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= 3,367 10,867 A7,500
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93 12,814 18,009 15,195
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